

# AGENDA WATERFORD TOWN BOARD MEETING June 7, 2022

### 1. Call to Order and Call of the Roll

## 2. Communications and Petitions

- Resignation of Joseph Avarello
- Correspondence from NY Power Authority regarding the Vischer Ferry Hydroelectric Project Final License Application
- Correspondence from NY Power Authority regarding the Crescent Hydroelectric Project Final License Application

# 3. Action on the minutes of previous meetings as follows:

Town Board Meeting of May 3, 2022 and Agenda and Special Meeting of May 31, 2022

## 4. Committee Reports

- A. Financial Report and Submission of Bills and Petty Cash
- B. Committee on Highway, Wastewater Treatment, Water Authority, Cemetery and Museum
- C. Committee on Public Safety, Emergency Services, and Liaison to Village
- D. Committee on Veterans, Grants and Funding, Special Projects, Town Hall and Seniors
- E. Committee on Youth, Playground, Pool, Festivals, Library, WHUFSD, Visitor Center and Building Department
- F. Supervisors Report

### 5. General Orders

- A. Resolution to honor Waterford Veteran Raymond J. "Butch" Giroux Jr.
- B. Resolution to authorize the Town Supervisor to execute a vendor agreement with the NYS Office of Temporary and Disability Assistance relative to the NYS Low Income Household Water Assistance Program
- C. Resolution to authorize the Town Supervisor to sign an agreement with Axon Enterprises, Inc for the purchase of body cameras, hardware and software at a cost of \$56,537.90
- D. Resolution to authorize the Town Supervisor to sign an agreement with PCS Pump and Process Inc for the purchase of of sixteen (16) Mission MyDro M150 RTU units at a cost of \$2,100.00 per unit
- E. Resolution to hire nine lifeguards, two part-time park counselors and two part-time concession stand attendants
- F. Resolution to appoint Brian Bruso as Alternate Member of the Planning Board
- G. Resolution to accept a 2022 Road Paving Bid of \$348,576.38 from Evolution Construction Services

## 6. Other Business



Axon Enterprise, Inc.
17800 N 85th St.
Scottsdale, Arizona 85255
United States
VAT: 86-0741227
Domestic: (800) 978-2737
International: +1.800.978.2737

Q-374795-44715.687NR

Issued: 06/03/2022

Quote Expiration: 08/14/2022
Estimated Contract Start Date: 09/01/2022

Account Number: 513214
Payment Terms: N30

Delivery Method: Fedex - Ground

Fax:	Email: nroche@axon.com	Phone: 6466611266	Nick Roche	SALES REPRESENTATIVE
Fax: (518) 237-2264	Email: shudtm@town.waterford.ny.us	Phone: (518) 2373341	Mike Shudt	PRIMARY CONTACT

# **Quote Summary**

65 Broad ST. 65 Broad ST. Waterford, NY 12188 USA

OT AIRS

BILL TO

Waterford Town Police Dept - NY

Email:

USA

65 Broad ST. Waterford, NY 12188

# Program Length 60 Months TOTAL COST \$56,537,90 ESTIMATED TOTAL W/ TAX \$56,537,90

# **Discount Summary**

TOTAL SAVINGS	Average Savings Per Year
\$7,697.00	\$1,539.40

# Payment Summary

\$11,307.58	\$0.00	\$11,307.58	Aug 2026
\$11,307.58	\$0.00	\$11,307.58	Aug 2025
\$11,307.58	\$0.00	\$11,307.58	Aug 2024
\$11,307.58	\$0.00	\$11,307.58	Aug 2023
\$11,307.58	\$0.00	\$11,307.58	Aug 2022
Total	Tax	Subtotal	Date

# **Pricing**

# All deliverables are detailed in Delivery Schedules section lower in proposal

Quote List Price: Quote Subtotal:

\$64,234.90 \$56,537.90

Total	73618	85144	73478	73683	Individ	73310	73309	80464	Body V	73688	73689	80465	Body 1	73683	73746	Pro Lic	73683	73840	Basic I	70033	71019	74210	AB3 M	74028	11534	74020	73202	AB3 C	Item
	CITIZEN FOR COMMUNITIES USER LICENSE	AXON STARTER	REDACTION ASSISTANT USER LICENSE	10 GB EVIDENCE COM A-LA-CART STORAGE-	Individual Items	AXON CAMERA REFRESH TWO	AXON CAMERA REFRESH ONE	EXT WARRANTY, CAMERA (TAP)	Body Worn Camera TAP Bundle	MULTI-BAY BWC DOCK 2ND REFRESH	MULTI-BAY BWC DOCK 1ST REFRESH	EXT WARRANTY, MULTI-BAY DOCK (TAP)	Body Worn Camera Multi-Bay Dock TAP Bundle	10 GB EVIDENCE COM A-LA-CART STORAGE-	PROFESSIONAL EVIDENCE.COM LICENSE	Pro License Bundle	10 GB EVIDENCE.COM A-LA-CART STORAGE-	EVIDENCE COM BASIC LICENSE	Basic License Bundle	WALL MOUNT BRACKET, ASSY, EVIDENCE COM DOCK	NORTH AMER POWER CORD FOR AB3 8-BAY, AB2 1-BAY 6-BAY DOCK	AXON BODY 3 - 8 BAY DOCK	AB3 Multi Bay Dock Bundle	WING CLIP MOUNT, AXON RAPIDLOCK	USB-C to USB-A CABLE FOR AB3 OR FLEX 2	MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK	AXON BODY 3 - NA10 - US - BLK - RAPIDLOCK	AB3 Camera Bundle	Description
	60m		60m	60m				60m				60m		60m	60m		60m	60m											Term
	11	1	11	100		11	=	=		_	`	>		6	2		9	9			1			2	13	11	11		Qty.
	\$540.00	\$2,750.00	\$540.00	\$24.00		\$768.00	\$741.00	\$420.00		\$1,643.00	\$1,585.00	\$750.00		\$0.00	\$2,340.00		\$0.00	\$900.00		\$43.90	\$0.00	\$1,495.00		\$0.00	\$0.00	\$0.00	\$699.00		List Price
	\$540.00	\$0.00	\$540.00	\$24.00		\$668.86	\$645.35	\$365.79		\$731.05	\$705.24	\$333.71		\$0.00	\$2,340.00		\$0.00	\$900.00		\$43.90	\$0.00	\$1,495.00		\$0.00	\$0.00	\$0.00	\$699.00		Net Price
\$56,537.90	\$5,940.00	\$0.00	\$5,940.00	\$2,400.00		\$7,357.46	\$7,098.85	\$4,023.69		\$731.05	\$705.24	\$333.71		\$0.00	\$4,680.00		\$0.00	\$8,100.00		\$43.90	\$0.00	\$1,495.00		\$0.00	\$0.00	\$0.00	\$7,689.00		Subtotal
\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00	\$0.00		Tax
\$56,537.90	\$5,940.00	\$0.00	\$5,940.00	\$2,400.00		\$7,357.46	\$7,098.85	\$4,023.69		\$731.05	\$705.24	\$333.71		\$0.00	\$4,680.00		\$0.00	\$8,100.00		\$43.90	\$0.00	\$1,495.00		\$0.00	\$0.00	\$0.00	\$7,689.00		Total

# **Delivery Schedule**

Bundle Comment of the	ltem	Description	QTY E	Estimated Delivery Date
AB3 Camera Bundle	11534	USB-C to USB-A CABLE FOR AB3 OR FLEX 2	13	08/01/2022
AB3 Camera Bundle	73202	AXON BODY 3 - NA10 - US - BLK - RAPIDLOCK	11	08/01/2022
AB3 Camera Bundle	74020	MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK	11	08/01/2022
AB3 Camera Bundle	74028	WING CLIP MOUNT, AXON RAPIDLOCK	2	08/01/2022
AB3 Multi Bay Dock Bundle	70033	WALL MOUNT BRACKET, ASSY, EVIDENCE COM DOCK	1	08/01/2022
AB3 Multi Bay Dock Bundle	71019	NORTH AMER POWER CORD FOR AB3 8-BAY, AB2 1-BAY / 6-BAY DOCK		08/01/2022
AB3 Multi Bay Dock Bundle	74210	AXON BODY 3 - 8 BAY DOCK	1	08/01/2022
Body Worn Camera Multi-Bay Dock TAP Bundle	73689	MULTI-BAY BWC DOCK 1ST REFRESH		02/01/2025
Body Worn Camera TAP Bundle	73309	AXON CAMERA REFRESH ONE	11	02/01/2025
Body Worn Camera Multi-Bay Dock TAP Bundle	73688	MULTI-BAY BWC DOCK 2ND REFRESH	1	08/01/2027
Body Worn Camera TAP Rimdle	73310	AYON CAMERA REFRESH TWO	11	08/01/2027

Bundle	len.	Description	Estimated Start Date	Estimated End Date
Basic License Bundle	73683	10 GB EVIDENCE.COM A-LA-CART STORAGE- 9	09/01/2022	08/31/2027
Basic License Bundle	73840	EVIDENCE.COM BASIC LICENSE 9	09/01/2022	08/31/2027
Pro License Bundle	73683	10 GB EVIDENCE, COM A-LA-CART STORAGE- 6	09/01/2022	08/31/2027
Pro License Bundle	73746	PROFESSIONAL EVIDENCE.COM LICENSE 2	09/01/2022	08/31/2027
A la Carte	73478	REDACTION ASSISTANT USER LICENSE	09/01/2022	08/31/2027
A la Carte	73618	CITIZEN FOR COMMUNITIES USER LICENSE	09/01/2022	08/31/2027
A la Carte	73683	10 GB EVIDENCE.COM A-LA-CART STORAGE- 100	09/01/2022	08/31/2027

# Services

Body Worn Camera Multi-Bay Dock TAP Bundle Body Worn Camera TAP Bundle

80465 80464

Description

EXT WARRANTY, MULTI-BAY DOCK (TAP)

EXT WARRANTY, CAMERA (TAP)

QTY Estimated Start Date Estimated End Date 1 09/01/2022 08/31/2027 11 09/01/2022 08/31/2027

Bundle	arra	A la Carte	undle
,37, .14,	ınties	िल	
×	S		1
7			
	•		
7.0			
4			
		İ	,
			1 (2) 2 (3)
丽		85	tter
3		85144	3
모		≳	Ď
Š		AXON STARTER	SCI
호.		STA	ġ.
ĭ		TARTER	ž
		70	
			7 .
S			
			7 7 20
			ing in Section
စ			
₹			
			4
띬			10
3			
8			
핅			
Ç			
ត			83
m			100
Estin			
nate			
<u>م</u>			ja
ם			6
ate		-	Ŧ

# Page 3

# Payment Details

\$11.307.58	\$0 <b>60</b>	C11 207 52				1
\$0.00	\$0.00	\$0.00		AXON STARTER	85144	Year 1
\$66.75	\$0.00	\$66.75		EXT WARRANTY, MULTI-BAY DOCK (TAP)	80465	Year 1
\$804.73	\$0.00	\$804.73	=	EXT WARRANTY, CAMERA (TAP)	80464	Year 1
\$299.00	\$0.00	\$299.00		AXON BODY 3 - 8 BAY DOCK	74210	Year 1
\$0.0	\$0.00	\$0.00	2	WING CLIP MOUNT, AXON RAPIDLOCK	74028	Year 1
\$0.00	\$0.00	\$0.00	11	MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK	74020	Year 1
\$1,620.00	\$0.00	\$1,620.00	9	EVIDENCE.COM BASIC LICENSE	73840	Year 1
\$936.00	\$0.00	\$936.00	2	PROFESSIONAL EVIDENCE.COM LICENSE	73746	Year 1
\$141.04	\$0.00	\$141.04		MULTI-BAY BWC DOCK 1ST REFRESH	73689	Year 1
\$146.21	\$0.00	\$146.21		MULTI-BAY BWC DOCK 2ND REFRESH	73688	Year 1
\$0.00	\$0.00	\$0.00	6	10 GB EVIDENCE.COM A-LA-CART STORAGE-	73683	Year 1
\$480.00	\$0.00	\$480.00	100	10 GB EVIDENCE COM A-LA-CART STORAGE-	73683	Year 1
\$0.00	\$0.00	\$0.00	9	10 GB EVIDENCE.COM A-LA-CART STORAGE-	73683	Year 1
\$1,188.00	\$0.00	\$1,188.00	=======================================	CITIZEN FOR COMMUNITIES USER LICENSE	73618	Year 1
\$1,188.00	\$0.00	\$1,188.00	11	REDACTION ASSISTANT USER LICENSE	73478	Year 1
\$1,471.50	\$0.00	\$1,471.50	=	AXON CAMERA REFRESH TWO	73310	Year 1
\$1,419.7	\$0.00	\$1,419.77	=======================================	AXON CAMERA REFRESH ONE	73309	Year 1
\$1,537.80	\$0.00	\$1,537.80	1	AXON BODY 3 - NA10 - US - BLK - RAPIDLOCK	73202	Year 1
\$0.00	\$0.00	\$0.00	_	NORTH AMER POWER CORD FOR AB3 8-BAY, AB2 1-BAY / 6-BAY DOCK	71019	Year 1
\$8.78	\$0.00	\$8.78		WALL MOUNT BRACKET, ASSY, EVIDENCE COM DOCK	70033	Year 1
\$0.00	\$0.00	\$0.00	13	USB-C to USB-A CABLE FOR AB3 OR FLEX 2	11534	Year 1
Total	Tax	Subtotal	Ą	Description		Invoice Plan
						Aug zuzz

July Toro					
Invoice Plan	Item	<b>Description</b>	<b>₽</b>	Subtotal	Tax
Year 2	11534	USB-C to USB-A CABLE FOR AB3 OR FLEX 2	ಭ	\$0.00	\$0.00
Year 2	70033	WALL MOUNT BRACKET, ASSY, EVIDENCE.COM DOCK		\$8.78	\$0.00
Year 2	71019	NORTH AMER POWER CORD FOR AB3 8-BAY, AB2 1-BAY / 6-BAY DOCK	>	\$0.00	\$0.00
Year 2	73202	AXON BODY 3 - NA10 - US - BLK - RAPIDLOCK	=	\$1,537.80	\$0.00
Year 2	73309	AXON CAMERA REFRESH ONE	=;	\$1,419.77	\$0.00
Year 2	73310	AXON CAMERA REFRESH TWO	⇉	\$1,471.49	\$0.00
Year 2	73478	REDACTION ASSISTANT USER LICENSE	11	\$1,188.00	\$0.00
Year 2	73618	CITIZEN FOR COMMUNITIES USER LICENSE	11	\$1,188.00	\$0.00
Year 2	73683	10 GB EVIDENCE COM A-LA-CART STORAGE-	9	\$0.00	\$0.00
Year 2	73683	10 GB EVIDENCE COM A-LA-CART STORAGE-	100	\$480.00	\$0.00
Year 2	73683	10 GB EVIDENCE COM A-LA-CART STORAGE-	6	\$0.00	\$0.00
Year 2	73688	MULTI-BAY BWC DOCK 2ND REFRESH	1	\$146.21	\$0.00
Year 2	73689	MULTI-BAY BWC DOCK 1ST REFRESH	1	\$141.05	\$0.00
Year 2	73746	PROFESSIONAL EVIDENCE COM LICENSE	2	\$936.00	\$0.00
Year 2	73840	EVIDENCE COM BASIC LICENSE	9	\$1,620.00	\$0.00
Year 2	74020	MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK	11	\$0.00	\$0.00
Year 2	74028	WING CLIP MOUNT, AXON RAPIDLOCK	2	\$0.00	\$0.00

74. 307 7	200			<ul> <li>Application of the Solid State of the</li></ul>		1
	\$0.00	\$0.00	_	AXON STARTER	85144	Year 2
	\$0.00	\$66.74		EXT WARRANTY, MULTI-BAY DOCK (TAP)	80465	Year 2
0 \$804.74	\$0.00	\$804.74	11	EXT WARRANTY, CAMERA (TAP)	80464	Year 2
	\$0.00	\$299.00	_	AXON BODY 3 - 8 BAY DOCK	74210	Year 2
Car Line	Ta	Subtotal	Qty	Description	The Item	Invoice Plan

Total	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Year 3	Invoice Plan	Aug 2024
	85144	80465	80464	74210	74028	74020	73840	73746	73689	73688	73683	73683	73683	73618	73478	73310	73309	73202	71019	70033	11534	ı item	
	AXON STARTER	EXT WARRANTY, MULTI-BAY DOCK (TAP)	EXT WARRANTY, CAMERA (TAP)	AXON BODY 3 - 8 BAY DOCK	WING CLIP MOUNT, AXON RAPIDLOCK	MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK	EVIDENCE.COM BASIC LICENSE	PROFESSIONAL EVIDENCE COM LICENSE	MULTI-BAY BWC DOCK 1ST REFRESH	MULTI-BAY BWC DOCK 2ND REFRESH	10 GB EVIDENCE COM A-LA-CART STORAGE-	10 GB EVIDENCE.COM A-LA-CART STORAGE-	10 GB EVIDENCE COM A-LA-CART STORAGE-	CITIZEN FOR COMMUNITIES USER LICENSE	REDACTION ASSISTANT USER LICENSE	AXON CAMERA REFRESH TWO	AXON CAMERA REFRESH ONE	AXON BODY 3 - NA10 - US - BLK - RAPIDLOCK	NORTH AMER POWER CORD FOR AB3 8-BAY, AB2 1-BAY / 6-BAY DOCK	WALL MOUNT BRACKET, ASSY, EVIDENCE.COM DOCK	USB-C to USB-A CABLE FOR AB3 OR FLEX 2	Description	
子 \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			11		2	11	9	2			6	100	9	11	1	11	=======================================	⇉	DOCK 1		13	<b>9</b>	
\$11,307.58	\$0.00	\$66.74	\$804.74	\$299.00	\$0.00	\$0.00	\$1,620.00	\$936.00	\$141.05	\$146.21	\$0.00	\$480.00	\$0.00	\$1,188.00	\$1,188.00	\$1,471.49	\$1,419.77	\$1,537.80	\$0.00	\$8.78	\$0.00	Subtotal	
\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	Tax	
\$11,307.58	\$0.00	\$66.74	\$804.74	\$299.00	\$0.00	\$0.00	\$1,620.00	\$936.00	\$141.05	\$146.21	\$0.00	\$480.00	\$0.00	\$1,188.00	\$1,188.00	\$1,471.49	\$1,419.77	\$1,537.80	\$0.00	\$8.78	\$0.00	Total	

1154 11534 70033 71019 73202 73309 73310 73478 73618 73683 73683 73683 73683	Aug 2025						
11534 70033 71019 73202 73202 73309 73310 73478 73683 73683 73683 73683	Invoice Plan	ltem - 1988	Description 1997 April	Qty	Subtotal	Tax	Total
70033 71019 73202 73202 73309 73310 73478 73618 73683 73683 73683 73683	Year 4	11534	USB-C to USB-A CABLE FOR AB3 OR FLEX 2	13	\$0.00	\$0.00	\$0.00
71019 73202 73202 73309 73310 73618 73683 73683 73683	Year 4	70033	WALL MOUNT BRACKET, ASSY, EVIDENCE.COM DOCK	>	\$8.78	\$0.00	\$8.78
73202 73309 73310 73478 73618 73683 73683	Year 4	71019	NORTH AMER POWER CORD FOR AB3 8-BAY, AB2 1-BAY / 6-BAY DOCK	>	\$0.00	\$0.00	\$0.00
73309 73310 73478 73618 73683 73683 73683	Year 4	73202	AXON BODY 3 - NA10 - US - BLK - RAPIDLOCK	11	\$1,537.80	\$0.00	\$1,537.80
73310 73478 73618 73683 73683 73683	Year 4	73309	AXON CAMERA REFRESH ONE	11	\$1,419.77	\$0.00	\$1,419.77
73478 73618 73683 73683 73683	Year 4	73310	AXON CAMERA REFRESH TWO	11	\$1,471.49	\$0.00	\$1,471.49
73618 73683 73683 73683	Year 4	73478	REDACTION ASSISTANT USER LICENSE	11	\$1,188.00	\$0.00	\$1,188.00
73683 73683 73683	Year 4	73618	CITIZEN FOR COMMUNITIES USER LICENSE	11	\$1,188.00	\$0.00	\$1,188.00
73683 73683	Year 4	73683	10 GB EVIDENCE COM A-LA-CART STORAGE-	9	\$0.00	\$0.00	\$0.00
73683 73688	Year 4	73683	10 GB EVIDENCE COM A-LA-CART STORAGE-	100	\$480.00	\$0.00	\$480.00
72690	Year 4	73683	10 GB EVIDENCE COM A-LA-CART STORAGE-	6	\$0.00	\$0.00	\$0.00
7 3000	Year 4	73688	MULTI-BAY BWC DOCK 2ND REFRESH		\$146.21	\$0.00	\$146.21

Description:  MULTI-BAY BWC DOCK 1ST REFRESH PROFESSIONAL EVIDENCE COM LICENSE PROFESSIONAL EVIDENCE COM LICENSE 2 EVIDENCE COM BASIC LICENSE 9 MAGNET MOUNT, FLEXIBLE, AXON RAPIDLOCK WING CLIP MOUNT, AXON RAPIDLOCK 2 AXON BODY 3 - 8 BAY DOCK EXT WARRANTY, CAMERA (TAP) 1 EXT WARRANTY, CAMERA (TAP) 1 AXON STARTER 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	NSE WIDLOCK AP)	PIDLOCK 11  1  1  1  1  1  1  1  1  1  1  1  1
		\$141.05 \$141.05 \$936.00 \$1,620.00 \$1,620.00 \$0.00 \$299.00 \$299.00 \$804.74 \$66.74 \$66.74 \$56.74 \$0.00 \$11,307.58
	\$141.05 \$336.00 \$1,620.00 \$0.00 \$0.00 \$299.00 \$290.00 \$290.00 \$290.00	

prior to invoicing. Tax is estimated based on rates applicable at date of quote and subject to change at time of invoicing. If a tax exemption certificate should be applied, please submit

# Standard Terms and Conditions

# Axon Enterprise Inc. Sales Terms and Conditions

Axon Master Services and Purchasing Agreement:

extent it includes the products and services being purchased and does not conflict with the Axon Customer Experience Improvement Program Appendix as described below. purchase, if applicable. In the event you and Axon have entered into a prior agreement to govern all future purchases, that agreement shall govern to the (posted at www.axon.com/legal/sales-terms-and-conditions), as well as the attached Statement of Work (SOW) for Axon Fleet and/or Axon Interview Room This Quote is limited to and conditional upon your acceptance of the provisions set forth herein and Axon's Master Services and Purchasing Agreement

# ACEIP:

develop new products and improve your product experience (posted at www.axon.com/legal/sales-terms-and-conditions), is incorporated herein by reference. By signing below, you agree to the terms of the Axon Customer Experience Improvement Program. The Axon Customer Experience Improvement Program Appendix, which includes the sharing of de-identified segments of Agency Content with Axon to

# Acceptance of Terms:

are lawfully able to enter into contracts. If you are signing on behalf of an entity (including but not limited to the company, municipality, or government agency for whom you work), you represent to Axon that you have legal authority to bind that entity. If you do not have this authority, please do not sign this Quote. Any purchase order issued in response to this Quote is subject solely to the above referenced terms and conditions. By signing below, you represent that you

Signature



Pump and Process, Inc. 41 Plymouth St., Suite 1, Fairfield, NJ 07004 Phone/Fax: (973) 575-7464 Sales@PCSPump.com





May 23, 2022

# **Quotation # 22-199**

**Town of Waterford NY** Attention: Craig Falcone

Subject: Mission Communication M150 RTU.

PCS Pump & Process is pleased to offer the following equipment and services for your consideration.

PCS to provide one (1) Mission Communications MyDro 150 RTU at one (1) location for Town of Waterford, NY.

### Supply:

One (1) Mission MyDro M150 RTU:

- NEMA 4X Large Enclosure.
- · Real Time Alarm Callouts.
- Hourly Update of Analog Inputs.
- Eight (8) Integral Digital Inputs.
- Two (2) Integral Analog inputs.
- 11' Antenna Cable, Antenna, Antenna Mounting Bracket.
- 5AH Battery.
- One (1) Year Cellular Service

Price: \$ 2,100.00 - perstation - Equipt.

Qng/(1) Digital Input Expansion modules - PN OP653. Eight (8) additional digital inputs.

One (1) Year Annual Service.

Price: \$ 730,00 Pontred

New account setup fee - One (1) Time Per New Account

Price: \$ 250.0 one time fee

Notes/Exclusions:

• Startup services are not included. Estimate 4-4,500 persted to we will get a price from Glen/Troy Belting.
• Installation and Installation materials are excluded in this manner.

Training services are not included. Going to have to use them

Annual Service:

347.40 per Unit, per year). Tuches cell senvice o \$60.00 per expansion card, per unit, per year. bowt need

Annual service fees are inclusive of cellular service, technical support and website updates: محت

### Freight:

FOB Factory and Included.

# Shipment:

Shipment within two (2) weeks after receipt and acceptance of purchase order.

### Terms:

- Net 30 Days after shipment/installation, subject to prior credit approval.
- Applicable taxes extra.

Let me know if you have any questions on the above proposal.

Regards,

Peter Tabone PCS Pump & Process Cell: (201) 953-9126

Email: PTabone@PCSPump.com

G.

# Evolution Construction Services Bid Summary 2022 Road Paving

Road Names	-	Total Price
Clemente Lane & Roberts Road	\$	85,894.90
Linda Lane & Victor Drive	\$	91,946.22
Pheasant Run	\$	29,428.20
Canvasback Ridge	\$	56,245.55
Pintail Place	\$	27,758.23
Mallards Landing North	\$	57,303.28
Total	\$	348,576.38

€.

			<b>Evolution Cor</b>	istruction Ser	vices		<u></u>		
			Po Box 511						
			Mechanicville	NY 12118			-		
Project: Town	of Waterford	l - Mallards La	nding North - !				T		
		1	T				<del>                                     </del>		
490		Cold Planning	7	Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
	W200   Cold			•	0.5	OT HOURS	\$2,800.00	OT MALE	\$1,400.00
<u>E</u>			<del> </del>	1	0.5	· · · · · · · · · · · · · · · · · · ·	\$790.00	\$140.00	\$395.00
<u> </u>	Cold Planer C		<b></b>				\$790.00	\$140.00	\$382.50
<u> </u>	Cold Planer G	rougman	ļ	1	0.5			\$140,00	
E	Paving Van	ļ	ļ				\$90.00		\$0.00
E .	Water Truck						\$225.00		\$0.00
E		L							\$0.00
L	W150 Cold P	lanner					\$1,800.00		\$0.00
L	Laborer	·		1	0.5		\$705.00	\$132.00	\$352.50
E									\$0.00
E	Skidsteer			1	0.5		\$475.00		\$237.50
L	Skidsteer Ope	erator		1	0.5		\$765.00	\$140.00	\$382.50
E	Loader						\$400.00		\$0.00
L					1			\$140.00	\$0.00
<u>-</u> E	Pickup Swee	oer		1	0.5		\$850.00	1	\$425.00
<u>-</u> L	Pickup Sweet			1	0.5		\$695.00	\$130.00	\$347.50
E.	Foremans Pic			1	0.5		\$90.00	720.00	\$45.00
	Foreman	kup {	<del> </del>	1	0.5		\$790.00	\$140.00	\$395.00
<u>L</u>	roreman			-	0.5	<u>                                   </u>	\$750.00	\$140,00	\$0.00
E	=					<u> </u>	- <del></del>		
·	Total					ļ			\$4,362.50
					<u> </u>				
403	Paving		<u> </u>	Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
E	Paver			1	1		\$1,250.00		\$1,250.00
<u>L</u>	Paver Operat			1	1		\$790.00	\$140.00	\$790.00
E	Roller (10-12	Ton)		1	1		\$645.00		\$645.00
E	Roller (8-10 T	Γon)		1	1		\$500.00		\$500.00
L	Roller Opera	tor		2	1		\$765.00	\$140.00	\$1,530.00
E	Skidsteer			. 1	1		\$250.00		\$250.00
E	Paving Van			1	1		\$90.00		\$90.00
E	Water Truck						\$225.00		\$0.00
 L	Paving Foren		<del></del>	2	1		\$790.00	\$140.00	\$1,580.00
E	Pickup (Fore			1	1	<u> </u>	\$90.00	1	\$90.00
1	Screedman	1		1	1	<del>                                     </del>	\$705.00	\$132.00	\$705.00
L	Raker			2	1	<del> </del>	\$705.00	\$132.00	\$1,410.00
	ļ	<u> </u>		<u> </u>			\$705.00	<b>Ģ152.00</b>	\$8,840.00
	Total		-	<u> </u>	<del></del>	ļ			30,640.00
	24 1411 11					ļ	· · · · · · · · · · · · · · · · · ·	<del> </del>	Total
. 699	Mobilization			Quantity	Each		Rate		
	W200 I		<u> </u>	11	1		\$500.00		\$500.00
	Paver	<u> </u>		1	1		\$500.00		\$500.00
	Skidsteer			2	1		\$500.00		\$1,000.00
	Loader						\$500.00		\$0.00
	Tractor Broo	m					\$500.00		\$0.00
	Roller			2	1		\$500.00		\$1,000.00
<del></del>	Total	<u> </u>		<del> </del>					\$3,000.0
			<del>                                     </del>	<del> </del>		1	1	1	, .,
400	Materials As	phalt Concret	 e	Quantity	Unit		Rate	-	Total
4117		Priori Corio El	7		Ton		(\$3.00	1 .	-\$1,719.0
402	Dan Cuadia		1	573	<del></del>	+	(55.00	<del>' </del>	\$0.00
402	Rap Credit			5			1		ŞU.UI
402	Type 3 Binde				Ton		460.54	-	COC 240 21
402	Type 3 Binde Type 6F top			573	Ton		\$63.21		
402	Type 3 Binde Type 6F top Recycled 6 T				Ton Ton				\$0.0
402	Type 3 Binde Type 6F top Recycled 6 T Tack Coat	Ор		260	Ton Ton Gal		\$2.95		\$0.0 \$767.0
402	Type 3 Binde Type 6F top Recycled 6 T	Ор			Ton Ton		\$2.95 \$181.25		\$0.0 \$767.0 \$1,450.0
402	Type 3 Binde Type 6F top Recycled 6 T Tack Coat Distributer R	Ор		260	Ton Ton Gal		\$2.95		\$0.0 \$767.0 \$1,450.0
402	Type 3 Binde Type 6F top Recycled 6 T Tack Coat	Ор		260 8	Ton Ton Gal HR		\$2.95 \$181.25		\$36,219.3 \$0.00 \$767.0 \$1,450.0 \$4,383.4 \$41,100.7

			Evolution Cor	struction Serv	ices				
			Po Box 511	·					
			Mechanicville	NY 12118					
roject: Town	of Waterford	l - Canvasback	Rd - 5-4-2022						
	*								
490		Cold Planning		Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
	W200 I Cold I			1	0.5		\$2,800.00		\$1,400.00
	Cold Planer C			1	0.5		\$790.00	\$140.00	\$395.00
<u> </u>	Cold Planer G			1	0.5		\$765.00	\$140.00	\$382.50
	Paving Van				0.5		\$90.00	4210.00	\$0.00
	Water Truck				*****		\$225.00	· ·	\$0.00
•	Water Huck				~		7225.00		\$0.0
	14/4 FO Cald D						\$1,800.00		\$0.0
·	W150 Cold P	lanner			0.5			6422.00	\$352.5
	Laborer			1	0.5		\$705.00	\$132.00	
							<del>                                     </del>		\$0.0
	Skidsteer	<u> </u>		2	0.5		\$475.00	4	\$475.0
	Skidsteer Op	erator		1	0.5		\$765.00	\$140.00	\$382.5
	Loader					<u> </u>	\$400.00	ļ	\$0.0
•								\$140.00	\$0.0
	Pickup Sweep	per		1	0.5		\$850.00		\$425.0
•	Pickup Sweet			1	0.5		\$695.00	\$130.00	\$347.5
	Foremans Pic	kup		1	0.5		\$90.00		\$45.0
	Foreman			1	0.5		\$790.00	\$140.00	\$395.0
:									\$0.0
	Total	Ì							\$4,600.0
403	Paving			Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
	Paver			1	1		\$1,250.00	•	\$1,250.0
	Paver Operat	·or	<del></del>	1	1		\$790.00	\$140.00	\$790.0
				1	<u>i</u>		\$645.00	7140.00	\$645.0
	Roller (10-12								\$500.0
	Roller (8-10			1	1		\$500.00	6440.00	
-	Roller Opera	tor		2	1		\$765.00	\$140.00	\$1,530.0
E	Skidsteer			1	1		\$250.00	<u> </u>	\$250.0
E	Paving Van			1	1	<u> </u>	\$90.00		\$90.0
E	Water Truck						\$225.00		\$0.0
L	Paving Foren	nan		2	1		\$790.00	\$140.00	\$1,580.0
<b>.</b>	Pickup (Fore	man's)		1	. 1		\$90.00		\$90.0
L	Screedman			1	1		\$705.00	\$132.00	\$705.0
•	Raker			2	1		\$705.00	\$132.00	\$1,410.0
	Total								\$8,840.0
		ļ							
699	Mobilization			Quantity	Each	1	Rate		Total
000	W200 I		-	1	1	+	\$500.00		\$500.0
			-		1	1	\$500.00		\$500.0
	Paver	-		1	<del> </del>	-			\$1,000.0
	Skidsteer	-	<b></b>	2	1		\$500.00		\$1,000.0
	Loader		1				\$500.00		
	Tractor Broo	<u>m</u>					\$500.00		\$0.0
	Roller			2	1		\$500.00	-	\$1,000.0
	Total							*.	\$3,000.0
				<u></u>				<u> </u>	<u>                                     </u>
402	Materials-As	phalt Concrete	3	Quantity	Unit		Rate		Total
	Rap Credit			555	Ton		(\$3.00	)	-\$1,665.6
	Type 3 Binde	er			Ton	1			\$0.0
	Type 6F top			555	Ton		\$63.21		\$35,081.
	Recycled 6 T				Ton		+ + + + + + + + + + + + + + + + + + + +	· · · · · · · · · · · · · · · ·	\$0.0
<del></del>		<u> </u>	-	235	Gal	<b>-</b>	\$2.95		\$693.
	Tack Coat	lontal	-				\$181.25		\$1,450.0
	Distributer R	ental	<del> </del>	8	HR	-			
·			1	555	ton	1	\$7.65	1	\$4,245.
	Trucking					<b></b>			
	Trucking Total						7,,,,,		\$39,805. \$56,245.

			<b>Evolution Co</b>	nstruction Se	rvices	1			
			Po Box 511						
			Mechanicville	NY 12118					
roject: Town	of Waterford	- Pheasant Ru	ın - 5-4-2022						
			1						
490		Cold Planning	· · · · · · · · · · · · · · · · · · ·	Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
E	W200 I Cold I	Planner		1	0.5		\$2,800.00		\$1,400.00
	Cold Planer C			1	0.5		\$790.00	\$140.00	\$395.00
	Cold Planer G	·		1	0.5		\$765.00	\$140.00	\$382.50
E	Paving Van				1		\$90.00	<b>7</b>	\$0.00
	Water Truck						\$225.00		\$0.00
<u> </u>	Truck Hack	<u> </u>					7223.00		\$0.00
	W150 Cold P	lanner				· · · · · · · · · · · · · · · · · · ·	\$1,800.00		\$0.00
_	Laborer			1	0,5	ļ	\$705.00	\$132.00	\$352.50
<u>-                                    </u>	raporei			<u> </u>	0.5		\$705,00	\$132.00	\$0.00
E	Chidataaa	ļ	<u> </u>		<del>                                     </del>		\$475.00		\$237.50
E	Skidsteer	<u> </u>	<del> </del>	1 1	0.5		\$765.00	\$140.00	\$382.50
_	Skidsteer Op	erator		1	0.5			\$140.00	\$0.00
<u> </u>	Loader						\$400.00	64.40.00	
L .		<u> </u>	<b></b>	<u> </u>	_ <del> </del> _		Anua ==	\$140.00	\$0.00
<u> </u>	Pickup Sweep			1.	0.5	ļ	\$850.00	4455.55	\$425.00
<u>L</u>	Pickup Swee			1	0.5	-	\$695.00	\$130.00	\$347.50
E	Foremans Plo	kup		1	0.5	ļ	\$90.00		\$45.00
L	Foreman		ļ	1	0.5		\$790.00	\$140.00	\$395.00
E						·			\$0.00
	Total								\$4,362.50
403	Paving			Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
E	Paver			1	0.5		\$1,250.00		\$625.00
L	Paver Operat	tor		1	0.5		\$790.00	\$140.00	\$395.00
E	Roller (10-12			1	0.5		\$645.00		\$322.50
E	Roller (8-10			1	0.5		\$500.00		\$250.00
L	Roller Opera			2	0.5		\$765.00	\$140.00	\$765.00
E E	Skidsteer	<u> </u>		1	0.5	-	\$250.00		\$125.00
<u>-</u> Е	Paving Van	7		1	0.5	-	\$90.00		\$45.00
<u>=</u>	Water Truck		-			<del> </del>	\$225.00	· · · · · · · · · · · · · · · · · · ·	\$0.00
<u>-</u>	Paving Foren		· ·	2	0.5	-	\$790.00	\$140.00	\$790.00
<u>-                                     </u>	Pickup (Fore			1	0.5	+	\$90.00	<b>V</b> 2.0.00	\$45.00
<u>.                                    </u>	Screedman	111011 3)		1	0.5	+	\$705.00	\$132.00	\$352.50
L	Raker			2	0.5		\$705.00	\$132.00	\$705.00
<u> </u>			<u> </u>	4	- 0.5		\$703.00	\$152.00	\$4,420.00
	Total	<u> </u>	<u> </u>			<u> </u>		-	34,420.00
			ļ	0	Pauls		Data		Total
699	Mobilization			Quantity	Each		Rate		
	W200 I	<u> </u>		1	1		\$500.00		\$500.00
	Paver	<u> </u>	ļ	1	1		\$500.00		\$500.00
	Skidsteer			2	1		\$500.00		\$1,000.00
	Loader	<u> </u>				ļ	\$500.00		\$0.00
	Tractor Broo	m					\$500.00		\$0.00
	Roller			2	1	<u> </u>	\$500.00		\$1,000.00
	Total								\$3,000.00
<del></del>									
402	Materials-As	phalt Concret	e	Quantity	Unit	Ī	Rate		Total
	Rap Credit			245	Ton		(\$3.00	)	-\$735.00
	Type 3 Binde	<u></u>	+	<del> </del>	Ton		- 1		\$0.0
	Type 6F top			245	Ton	+	\$63.21		\$15,486.4
	Recycled 6 T				Ton		Young		\$0.0
		<del>uh</del>	-	400			\$2.95		\$295.0
<del>,</del>	Tack Coat	1	+	100	Gal				\$725.0
	Distributer R	rental		4	HR	+	\$181.25		
	Trucking			245	Ton		\$7.65		\$1,874.2
	Total	<u></u>						<b>_</b>	\$17,645.7
	Total	-		1				1	\$29,428.2

1

			<b>Evalution Cor</b>	struction Se	rvices				
			Po Box 511	, .					
			Mechanicville	NY 12118					
Project: Town	of Waterford	- Pintail Pl - 5	4-2022						
	·								
490		Cold Planning		Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
E	W200 I Cold	Planner		1	0.5		\$2,800.00		\$1,400.00
L	Cold Planer C			1	0.5		\$790.00	\$140.00	\$395.00
	Cold Planer G			1	0.5		\$765.00	\$140.00	\$382.50
E	Paving Van						\$90.00		\$0.00
<u> </u>	Water Truck						\$225.00		\$0.00
Ē					<u> </u>				\$0.00
L	W150 Cold P	lanner		***************************************			\$1,800.00		\$0.00
<b>L</b>	Laborer			1	0.5	-	\$705.00	\$132.00	\$352.50
<u> </u>									\$0.00
Ē	Skidsteer			1	0.5		\$475.00		\$237.50
	Skidsteer Op	erator		1	0.5		\$765.00	\$140.00	\$382.50
 E	Loader	[				1	\$400.00		\$0.00
L						<u> </u>	1	\$140.00	\$0.00
E	Pickup Swee	per	······································	1	0.5		\$850.00		\$425.00
 L		per Operator		1	0.5		\$695.00	\$130.00	\$347.50
 E	Foremans Pic			1	0.5		\$90.00		\$45.00
 L	Foreman			1	0.5		\$790.00	\$140.00	\$395.00
<u>-</u> E					1				\$0.00
	Total								\$4,362,50
403	Paving	1		Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
E	Paver		<del></del>	1	0.5		\$1,250.00		\$625.00
<u>-</u> L	Paver Operat	tor		1	0.5	1	\$790.00	\$140.00	\$395.00
<u>-</u> E	Roller (10-12			1	0.5	<u> </u>	\$645.00		\$322.50
<u>-</u> E	Roller (8-10			.1	0.5		\$500.00		\$250.00
<u>-</u> L	Roller Opera			2	0.5		\$765.00	\$140.00	\$765.00
<u>-</u> Е	Skidsteer	T		1	0.5		\$250.00		\$125.00
<u>-</u> E	Paving Van			1	0.5	<del> </del>	\$90.00	T	\$45.00
<u>-</u> E	Water Truck	<u> </u>					\$225.00		\$0.00
<u>-</u> L	Paving Foren			2	0.5		\$790.00	\$140.00	\$790.00
<u>=</u> E .	Pickup (Fore			1	0.5		\$90.00	<b>*</b>	\$45.00
1	Screedman	1		1	0.5		\$705.00	\$132.00	\$352.50
<u>.                                    </u>	Raker	-		2	0.5	<u> </u>	\$705.00	\$132.00	\$705.00
	Total			<del> </del>	<del>                                     </del>		7.00.00	,	\$4,420.00
	Total	-		<u> </u>	-		_		<b>4</b> 1,7 1,2 1,5 1
600	Mobilization			Quantity	Each	<del>- </del>	Rate	<del> </del>	Total
950	W200 I	<del>' </del>		Quantity 1	1	+	\$500.00	<del> </del>	\$500.00
		-	<del> </del>	1	1 1	<del> </del>	\$500.00		\$500.00
	Paver		ļ			<del> </del>	\$500.00		\$1,000.00
	Skidsteer			2	1	1			\$1,000.00
	Loader	1		<del>                                     </del>		<b>_</b>	\$500.00		\$0.00
	Tractor Broo	ım			1	-	\$500.00 \$500.00		\$1,000.00
	Roller	ļ		2	1		\$500.00		
	Total	<u> </u>		ļ		<u> </u>	<del>                                     </del>	1	\$3,000.0
<del></del>	ļ	<u> </u>	<u> </u>			ļ	<del></del>		7-4-1
402		phalt Concrete		Quantity	Unit		Rate		Total
	Rap Credit			230	Ton		(\$3.00	)	-\$690.0
	Type 3 Binde				Ton			ļ	\$0.0
	Type 6F top			230	Ton		\$63.21	ļ	\$14,538.3
	Recycled 6 T	ор			Ton				\$0.0
	Tack Coat			94	Gal		\$2.95		\$277.3
	Distributer F	Rental		0.5	HR		\$181.25		\$90.6
	Trucking			230	Ton		\$7.65		\$1,759.5
i									
	Total								\$15,975.7

		·	<b>Evolution Co</b>	nstruction Se	vices				
			Po Box 511						
			Mechanicville	NY 12118					
roject: Tow	vn of Waterford	d - Linda Ln & '	Victor Dr - 2 in	ch Mill & Fill	5-4-2022				
49	0	Cold Planning	g	Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
•	W200 I Cold	Planner		1	1	:	\$2,800.00		\$2,800.00
•	Cold Planer C	Operator		1	1		\$790.00	\$140.00	\$790.00
	Cold Planer G	Groudman		1	1		\$765.00	\$140.00	\$765.00
	Paving Van						\$90.00		\$0.00
•	Water Truck						\$225.00		\$0.00
									\$0.00
•	W150 Cold P	lanner					\$1,800.00		\$0.00
	Laborer			1	1		\$705.00	\$132.00	\$705.00
:									\$0.00
	Skidsteer			1	1		\$475.00		\$475.00
	Skidsteer Op	erator		1	1		\$765.00	\$140.00	\$765.00
E	Loader						\$400.00		\$0.00
L								\$140.00	\$0.00
E	Pickup Swee	per		1	1		\$850.00		\$850.00
	Pickup Swee	per Operator		1	1	2	\$695.00	\$130.00	\$955.00
E	Foremans Pig			1	1		\$90.00		\$90.00
L	Foreman			1	1		\$790.00	\$140.00	\$790.00
E									\$0.00
	Total								\$8,985.00
<u>-</u>									
40	3 Paving			Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
E	Paver			1	1		\$1,250.00		\$1,250.00
L	Paver Operat	tor		1	1	2	\$790.00	\$140.00	\$1,070.00
E .	Roller (10-12			1	1		\$645.00		\$645.00
E	Roller (8-10	<del>-</del>		1	1		\$500.00		\$500.00
<u></u>	Roller Opera	<del></del>		2	1	4	\$765.00	\$140.00	\$2,090.00
 E	Skidsteer	1		1	1		\$250.00		\$250.00
 E	Paving Van			1	1	1	\$90.00		\$90.00
<u>-</u> Е	Water Truck				<del></del>	-	\$225.00		\$0.00
 L	Paving Foren			2	1	4	\$790,00	\$140.00	\$2,140.00
<u> </u>	Pickup (Fore			1	1		\$90.00	<u> </u>	\$90.00
<u></u> L	Screedman			1	1	2	\$705.00	\$132.00	\$969.00
<del>-</del> L	Raker	1		2	1	4	\$705.00	\$132.00	\$1,938.00
	Total	<del> </del>					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		\$11,032.00
	Total	<u> </u>	-	·					<b>\$22,532</b>
69	9 Mobilization	<del> </del>	<del>                                     </del>	Quantity	Each		Rate		Total
	W200 I	+	+	1	1		\$500.00		\$500.00
	Paver			1	1	-	\$500.00		\$500.00
			<del> </del>		1		\$500.00	<del></del>	\$1,000.00
	Skidsteer Loader	<del> </del>	-	2		<del> </del>	\$500.00		\$0.00
		<u></u>			1	+	\$500.00		\$0.00
	Tractor Broo Roller	<del>''''</del>		2	1		\$500.00		\$1,000.00
<del> </del>					<del> </del>		\$300,00	<del> </del>	\$3,000.00
	Total		-		<del> </del>				25,000.00
4.6	2 14-41-1- 4	- bala C		Ougustis:	Linia	<del>                                     </del>	Pata	<del> </del>	Total
40	2 Materials-As	pnait Concret	<del>t</del>	Quantity	Unit		Rate	1	
	Rap Credit		-	977	Ton		(\$3.00	<u> </u>	-\$2,931.00
	Type 3 Binde		-		Ton	-	A 22 5 -		\$0.00
	Type 6F top			977	Ton		\$63.21	<u> </u>	\$61,756.17
	Recycled 6 T	ор		ļ	Ton				\$0.00
			1	400	Gal		\$2.95		\$1,180.00
	Tack Coat	<u> </u>							
	Tack Coat Distributer F	Rental		8	HR		\$181.25		
	Tack Coat Distributer F Trucking	Rental					\$181.25 \$7.65		\$1,450.00 \$7,474.0
	Tack Coat Distributer F	Rental	·	8	HR				

		<del> </del>	Evolution Cor	etruction Sor	vicas	T	Т	l l	
			Po Box 511	istruction ser	Vices				
			Mechanicville	NV 12110					
Project: Town	of Waterford	- Clamente I	n & Roberts Ro		8. EIII 5.4.2023	<u>                                     </u>	<u> </u>		
rioject. Iowii	OI WALEITOIL	- Ciemente L	l & Roberts Rt	1 - Z IIICH WIIII	Q FIII 3-4-2022	1			
490		Cold Planning	l	Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
	W200 I Cold I		5 	1	1	OTHOUS	\$2,800.00	OTRBLE	\$2,800.00
<u>E</u>						<u> </u>		\$140.00	\$790.00
<u>.</u>	Cold Planer C			1	1		\$790.00	\$140.00	\$765.00
<u>.                                      </u>	Cold Planer G	rouaman		1	1		\$765.00	\$140.00	\$0.00
E	Paving Van				<b> </b>	<del> </del>	\$90.00		\$0.00
<u> </u>	Water Truck						\$225.00		
<u>E</u>			ļ. <del> </del>				44 555 55		\$0.00
L	W150 Cold Pl	anner			ļ		\$1,800.00	4.00.00	\$0.00
L	Laborer			1.	1		\$705.00	\$132.00	\$705.00
E									\$0.00
<u>E</u>	Skidsteer			1	1		\$475.00		\$475.00
	Skidsteer Op	erator		1	1		\$765.00	\$140.00	\$765.00
E	Loader						\$400.00		\$0.00
<u>L</u>		<u> </u>						\$140.00	\$0.00
E	Pickup Sweep			1	1		\$850.00		\$850.00
L .	Pickup Sweep	<del></del>		1	1	2	\$695.00	\$130.00	\$955.00
E	Foremans Pic	kup		1	1		\$90.00		\$90.00
L	Foreman			1	1		\$790.00	\$140.00	\$790.00
E									\$0.00
	Total	,				1			\$8,985.00
								4.	
403	Paving		1	Quantity	8 Hour Days	OT Hours	8 Hour Rate	OT Rate	Total
E	Paver			1	1	<u> </u>	\$1,250.00		\$1,250.00
L	Paver Operat	or		1	1	2	\$790.00	\$140.00	\$1,070.00
E	Roller (10-12			1	1		\$645.00		\$645.00
E	Roller (8-10 7	<del></del>		1	1		\$500.00		\$500.00
 L	Roller Operat		•	2	1	4	\$765.00	\$140.00	\$2,090.00
E	Skidsteer			1	1		\$250.00		\$250.00
<u>-</u> Е	Paving Van			1	1		\$90.00		\$90.00
E	Water Truck	<del>                                     </del>		-	-		\$225.00		\$0.00
<u>-</u>	Paving Foren	l		2	1	4	\$790.00	\$140.00	\$2,140.00
E	Pickup (Fore			1	1		\$90.00	<b>\$2.10.00</b>	\$90.00
<u> </u>	Screedman	11011 5)		1	1	2	\$705.00	\$132.00	\$969.00
<u>L</u>	Raker			2	1	4	\$705.00	\$132.00	\$1,938.00
<u> </u>					<del>                                     </del>	4	3703.00	3132,00	
	Total		ļ				<u> </u>	<del> </del>	\$11,032.00
		ļ					P. I		T-4-1
699	Mobilization			Quantity	Each		Rate	ļ	Total
	W200 I	ļ		1	1		\$500.00		\$500.00
	Paver			1	1	ļ	\$500.00	<u> </u>	\$500.00
	Skidsteer			2	1		\$500.00		\$1,000.00
	Loader						\$500.00		\$0.00
	Tractor Broo	m					\$500.00		\$0.00
	Roller			2	1 .		\$500.00		\$1,000.00
	Total								\$3,000.00
					1				
402	Materials-As	phalt Concret	<u> </u>	Quantity	Unit	1	Rate		Total
	Rap Credit	· · · · · · · · · · · · · · · · · · ·	1	890	Ton	1	(\$3.00		-\$2,670.00
	Type 3 Binde	!r	<del> </del>		Ton	<b>†</b>	1,7-1,99		\$0.00
	Type 6F top	<u>"</u>	+	890	Ton		\$63.21	<del> </del>	\$56,256.90
	Recycled 6 T	<u> </u>		350	Ton	-	705,21		\$0.00
		oh T	-	250			\$2.95		\$1,032.50
ļ	Tack Coat	<u> </u>	<del> </del>	350	Gal				
	Distributer R	ental		8	HR	<u> </u>	\$181.25		\$1,450.00
	Trucking		· · · · · · · · · · · · · · · · · · ·	890	Ton		\$7.65		\$6,808.50
	Total							ļ	\$62,877.90
	Total			<u> </u>				1	\$85,894.90